211R—103521-01 |REV.:3 ]6/05/2024]

REV.

DESCRIPTION

DATE BY

A

INITIAL RELEASE

NOTE: PLEASE CONFIRM AND/OR SELECT MOUNTING CONDITIONS OF CURB:
ATTACHED TO STEEL OR CONCRETE AT ROOF (DEFAULT TO STEEL).

211R-103521-02 [Rev.:3 [6/05/2024]

—#8 SCREWS @ 12" O.C.
TYPICAL ALL AROUND (BY OTHERS)

| | STEEL ATTACHMENT

SLOTTED LOCK DOWN ANGLE & BOLT.
(FIELD WELD TO UNIT OVERHANG).

(2) SHIPPING SPACERS

EQUIPMENT

(FIELD INSTALLED

GASKET, SHIPPED UPPER . "L"OR "W
TS3X11/2X11GA UPPER LOOSE, FIELD FLASHING v
FLASHING INSTALLED
ffffffffff +— 12" WIDE RUBBER
UPPER TUBE X= GASKET TO ENCLOSE GASKET, SHIPPED

FRAME ENTIRE OUTSIDE OF LOOSE, FIELD

iiiii e = CURB AS SHOWN. INSTALLED
I = OVERLAP SEAMS [
AT LEAST 4" T ‘33
TACK __| |
WELD LOWER FLASHING

%" BOLT TIGHTENED AFTER

INSTALLED

=

PPER TUBE
FRAME

(2) SHIPPING SPACERS

TACK |
WELD

\1@
(22")

BOKKKS

DXL
BORRRS
BOKARKS

FLASHING \

/8,3

12" WIDE RUBBER
GASKET TO ENCLOSE
ENTIRE OUTSIDE OF

I

‘/4 ‘ TO WOOD NAILER) 1 \J‘ WELDING UNIT & WASHER
NOMINAL 2 X 2 LUMBER —=
Q<< PRESSURE TREATED \NS\?DE
0
’ WATERPROOF CURD
MEMBRANE
2 THICK (BY OTHERS) EXPANDED
INSULATION | — METAL MESH
BOARD wull
(BY OTHERS)
GYPSUM BOARD
OPTIONAL (BY OTHERS)
ye.o X XXX CANT STRIP — -
% (BY OTHERS) |
I | | ! OPTIONAL
r | ‘ ROOF | ‘ ACOUSTICAL
BY OTHERS Do | I | INSULATION I | PACKAGE
Lyt TS4x4x1/4-6"LG MAX. (BY OTHERS)
TS3X4X11GA ‘ SEISMIC LEVELING CONNECTION
BY OTHERS Yo () AT EACH POCKET LOCATION. ROOF DECK — (2) =~—
(SUPPLIED & INSTALLED BY OTHERS) | (4) =]
NOTE: DIMENSION "X" MUST BE SUPPLIED PRIOR TO FABRICATION
211R-103521-03 [Rev.:3 [6/05/2024] D CONCRETE ATTACHMENT
—#8 SCREWS @ 12" O.C. SLOTTED LOCK DOWN ANGLE & BOLT.
TYPICAL ALL AROUND (BY OTHERS) (FIELD WELD TO UNIT OVERHANG). EQUIPMENT
"L" OR "W
TS3X11/2X 11 GA UPPER GASKET, SHIPPED = V
FLASHING LOOSE, FIELD UPPER

GASKET, SHIPPED
LOOSE, FIELD
INSTALLED

CURB AS SHOWN.
OVERLAP SEAMS
AT LEAST 4".

LOWER FLASHING;
SHIPPED LOOSE,

\%" BOLT TIGHTENED AFTER
WELDING UNIT & WASHER

FIELD INSTALLED

NOMINAL 2X2LUMBER
PRESSURE TREATED

WATERPROOF MEMBRANE

(BY OTHERS)
(NOT SHOWN ON OTHER
VIEWS FOR CLARITY)

2" THICK

wsiDE
of
CUR®

—

EXPANDED
-~ METAL MESH

END [(SHORT) TUBE > Rt on OPTIONAL ‘
FULL| WIDTH <> CANT STRIP ‘ GYPSUM BOARD
\ "’:::::: (\ Y OTHErs)  (BY OTHERS) VL[| sevorrers
o N - (2) 1/2" ANCHORS | R Y
%] % 2 HOLES LOWER TUBE FRAME (PER CALGULATION) I o —
Z S A A — i — ﬂ*;{“ 777777 - ‘E A i B OPTIONAL
TS3X4X11GA f—-6 | \PW—/SW LEVEL CONCRETE PAD 4“ W s o L 2288:&'5“
178 8 3"X2"X1/4" HOLD DOWN ANGLE (2) A (2) =~—
AT EACH POCKET LOCATION. (3) |f=—(4) =
NOTE: (SHIPPED LOOSE)
1. DIMENSION "X" MUST BE SUPPLIED PRIOR TO FABRICATION
2. GROUT AS REQ'D. (SUPPLIED & INSTALLED BY OTHERS) 1/4" MAX. DIFFERENCE CAN BE TOLERATED.
CERTIFIED FOR: SCAlilE(:)NE
JOB NAME: MODEL P6300 ISOLATED N _ Memba,
s S VISEMA
CUSTOMER : SEISMIC/WIND RESTRAINT VMC 1 OF 3
CUSTOMER P.O.: DET;ESOQ glEJCR_ﬁ ONS GROUP DRAWING NO.: REVISION
THE POWER OF TOGETHER
SALES ORDER: Bloomingdale, NJ 07403
Houston, TX 77041

PROPRIETARY: EXCEPT AS OTHERWISE AGREED IN WRITING, THE INFORMATION AND DESIGN DISCLOSED HEREIN ARE THE PROPERTY OF THE VMC GROUP AND MUST NOT BE COPIED OR DISTRIBUTED OUTSIDE THE VMC GROUP EXCEPT TO
AUTHORIZED PERSONS WITH A GENUINE NEED TO KNOW WHO BY THE USE HEREOF ACKNOWLEDGE THE VMC GROUP'S OWNERSHIP AND AGREE TO MAINTAIN THIS INFORMATION AND DESIGN IN STRICT CONFIDENCE.




211R—103521-02 |REV.:3 [6/05/2024]

—#8 SCREWS @ 12" O.C.
TYPICAL ALL AROUND (BY OTHERS)

TS3X112X11GA

SLOTTED LOCK DOWN ANGLE & BOLT.
(FIELD WELD TO UNIT OVERHANG).

UPPER
FLASHING

INSTALLED

i

(2) SHIPPING SPACERS

¢

TS3X4X11GA

NOTE: DIMENSION "X" MUST BE
SUPPLIED PRIOR TO FABRICATION

BY OTHERSW \
|
BY OTHERSM (4) *j

T
\
\
J

\
by

TS 4 x4x1/4-6"LG MAX.

SEISMIC LEVELING CONNECTION

AT EACH POCKET LOCATION.
(SUPPLIED & INSTALLED BY OTHERS)

GASKET, SHIPPED
LOOSE, FIELD

12" WIDE RUBBER 7

REV. DESCRIPTION DATE BY

INITIAL RELEASE NO.

EQUIPMENT

UPPER
FLASHING

f—

"L"OR"W" —/| ——==—

UPPER TUBE GASKET TO ENCLOSE ‘ GASKET, SHIPPED
FRAME ENTIRE OUTSIDE OF | LOOSE, FIELD
77777 CURB AS SHOWN. | INSTALLED
’ OVERLAP SEAMS ey
AT LEAST 4". T
TACK | L
WELD

LOWER FLASHING
(FIELD INSTALLED
TO WOOD NAILER)

%“ BOLT TIGHTENED AFTER

WELDING UNIT & WASHER

NOMINAL 2 X 2 LUMBER =T
= @< PRESSURE TREATED \\\\S\DE
(22") oF
WATERPROOF CURB
’ MEMBRANE
2 THICK (BY OTHERS) EXPANDED
INSULATION | —  METAL MESH
BOARD il
END |(SHORT) TUBE (BY OTHERS)
FULL| WIDTH GYPSUM BOARD
:4 (\ OPTIONAL [\ (BY OTHERS)
\ L CANT STRIP 1
(BY OTHERS)

OPTIONAL
ROOF \
INSULATION ] | b ;\/(\:g}g\s&CAL
(BYOTHERS) et Hhnnninn i

1
ROOF DECK / — (2)

- (4) =

OTHER MATERIALS, COMPOUNDS, OR FINISHES WITH EQUAL OR SUPERIOR

CERTIFIED FOR: SCALE :

N NONE memba,
JOB NAME: MODEL P6300 ISO SEISMIC/WIND b— - VISEMA
CUSTOMER : RESTRAINT ROOF CURB VMC 20F3
CUSTOMER P.O.: STEEL ATTACHMENT e pow%f?p%lsmen DRAWING NO.: REVISION
SALES ORDER: B o

PROPRIETARY: EXCEPT AS OTHERWISE AGREED IN WRITING, THE INFORMATION AND DESIGN DISCLOSED HEREIN ARE THE PROPERTY OF THE VMC GROUP AND MUST NOT BE COPIED OR DISTRIBUTED OUTSIDE THE VMC GROUP EXCEPT TO AUTHORIZED PERSONS WITH A GENUINE NEED TO KNOW
WHO BY THE USE HEREOF ACKNOWLEDGE THE VMC GROUP'S OWNERSHIP AND AGREE TO MAINTAIN THIS INFORMATION AND DESIGN IN STRICT CONFIDENCE.




211R-103521-03 [Rev.:3 [6/05/2024]

—#8 SCREWS @ 12" O.C.
TYPICAL ALL AROUND (BY OTHERS)

TS3X11/2X11GA

REV.

DESCRIPTION

DATE

BY

INITIAL RELEASE NO.

SLOTTED LOCK DOWN ANGLE & BOLT.
(FIELD WELD TO UNIT OVERHANG).

UPPER
FLASHING

GASKET, SHIPPED
LOOSE, FIELD
INSTALLED

*************** 1/8
UPPER TUBE
FRAME 12" WIDE RUBBER
e L e — _F GASKET TO ENCLOSE

ENTIRE OUTSIDE OF
CURB AS SHOWN.

VTV?EEE - OVERLAP SEAMS
AT LEAST 4".

(2) SHIPPING SPACERS \
LOWER FLASHING;

2" THICK
INSULATION
BOARD

(BY OTHERS)

LOWER TUBE FRAME

NOTE: DIMENSION "X" MUST BE
SUPPLIED PRIOR TO FABRICATION

3"X2"X1/4" HOLD DOWN ANGLE
AT EACH POCKET LOCATION.
(SHIPPED LOOSE)

NOMINAL 2X2LUMBER
PRESSURE TREATED

WATERPROOF MEMBRANE
(BY OTHERS)

(2) 172" ANCHORS
(PER CALCULATION)

LEVEL CONCRETE PAD 4‘; -

EQUIPMENT

UPPER
FLASHING

SHIPPED LOOSE,
FIELD INSTALLED

(NOT SHOWN ON OTHER
VIEWS FOR CLARITY)

OPTIONAL
CANT STRIP
(BY OTHERS)

UK

=

OR"W" —\ —=

\ GASKET, SHIPPED
LOOSE, FIELD

INSTALLED

WELDING UNIT & WASHER

WSO
ov
CURE

—

EXPANDED
L~ METAL MESH

GYPSUM BOARD

BY OTHERS

(BY OTHERS)

OPTIONAL
ACOUSTICAL
PACKAGE

\
‘ \%" BOLT TIGHTENED AFTER
\

OTHER MATERIALS, COMPOUNDS, OR FINISHES WITH EQUAL OR SUPERIOR
PROPERTIES MAY BE SUBSTITUTED AS THEY BECOME AVAILABLE.

CERTIFIED FOR: CERT

JOB NAME:

MODEL P6300 ISO SEISMIC/WIND

CUSTOMER :

RESTRAINT ROOF CURB

CUSTOMER P.O.:

CONCRETE ATTACHMENT

SALES ORDER:

N
=
VMC

GROUP

THE POWER OF TOGETHER

Bloomingdale, NJ 07403
Houston, TX 77041

SCALE :
NONE | wemso,
30F3

DRAWING NO.: REVISION

PROPRIETARY: EXCEPT AS OTHERWISE AGREED IN WRITING, THE INFORMATION AND DESIGN DISCLOSED HEREIN ARE THE PROPERTY OF THE VMC GROUP AND MUST NOT BE COPIED OR DISTRIBUTED OUTSIDE THE VMC GROUP EXCEPT TO AUTHORIZED PERSONS WITH A GENUINE NEED TO KNOW
WHO BY THE USE HEREOF ACKNOWLEDGE THE VMC GROUP'S OWNERSHIP AND AGREE TO MAINTAIN THIS INFORMATION AND DESIGN IN STRICT CONFIDENCE.




	Sheets and Views
	P6300-01 STL & CONC DTLS

	211R-103521 P6300 _rev.3-P6300-02 STL DTL.pdf
	Sheets and Views
	P6300-02 STL DTL


	211R-103521 P6300 _rev.3-P6300-03 CONC DTL.pdf
	Sheets and Views
	P6300-03 CONC DTL



	Job Name: 
	Customer: 
	Customer P: 
	O: 

	Sales Order: 
	Drawing No: 
	Rev: 
	Date: 
	By: 
	Customer Po: 


